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(English Version)
Instructions:
() First 15 minutes are allotted for examinees to read this question paper.
(it} All questions are compulsory. -
(iii) This question paper has two Parts A and B.
(iv) Part - A contains 20 multiple choice type questions of 1 mark each that have to be
answered on the OMR Answer Sheet only.
(v)  After giving answer on the OMR Answer Sheet do not cut it and do not use eraser,
whitener, etc. https://www.upboardonline.com '
(vi) Part - B contains descriptive type questions of 50 marks.
(vii) There are 5 questions in Part - B.
(viii) In the beginning of each question, it has been clearly mentioned that hoy many
parts of it are to be attempted.
(ix) Marks allotted to each question are mentioned againstit.
(x)  Start from the first question and go up to the last question. Do not wqgt, your
time on the question you cannot solve.
(xt) If you need place for rough work, do it on the left page of your angyer, book and
cross (x) the page. Do not write the solution on that page.
(xii) Draw neat and correct figure in solution of @ question wherever it ;g necessary,

otherwise in its absense the solution will be tr eated as incomplete ang wrong.

822 (HW) 6



